Mean and Median

EXERCISE 34 (A)

Question 1.

Find the mean of :

(i) 7,10, 4 and 17

(i) 12,9, 6,11 and 17

(iii) 3,1,5,4,4and 7
(iv)7,5,0,3,0,6,0,9,1and 4
(v)2.1,4.5,5.2,7.1and 9.3
(vi)5,2.4,6.2,8.9,4.1and 3.4
Answer:

(1) 7,10, 4 and 17

Sum of data values
No. of data values

Required mean =

_ 7+10+4+17
- 4

_ 33 =95
T4

(ii) Meanof 12,9, 6, 11 and 17

Sum of data values
No. of data values

Required mean =

- 12+9+6+11+17
B 5
= is_ =11

5

(iii) Meanof 3, 1, 5, 4, 4 and 7

Sum of data values
No. of data values

Required mean =

3+1+5+4+4+7
6
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(iv) Meanof7,5,0,3,0,6,0,9, 1 and 4

Sum of data values
No. of data values

Required mean =

_ 7+5+0+43+40+46+0+9+1+4
- 10
-2 =35

10

(v) Mean of 21, 45,52, 71 and 93

Sum of data values
No. of data values

Required mean =

214+45+52+71+93
5

_ 282 64
-2 -

(vi) Mean of 5, 24, 6-2, 89,41 and 3-4

Sum of data values
No. of data values

Required mean =

_ 5+24+462+89+41+34
- 6
_
i
Question 2.

Find the mean of :

(i) first eight natural numbers

(i) first six even natural numbers

(i) first five odd natural numbers

(iv) all prime numbers upto 30

(v) all prime numbers between 20 and 40.

Answer:

(i) The first eight natural numbers are 1, 2, 3,4, 5,6,7, 8
~Sum of these observations =1+2+3+4+5+6+7+8=36
and, number of their observations = 8

36
~Required mean =% =45

(ii) The first six even natural numbers are 1 =2, 4, 6, 8, 10, 12
~Sum of these observations = 2, 4, 6, 8, 10, 12 =42



and, number of their Qbservations =6
42
~ Required mean =% =7

(iii) The first five odd natural numbers are =1, 3,5, 7,9
~Sum of these observations=1+3+5+7 +9 =25
and, number of theiguobservations =5

Fal

~Requiredmean=7% =5

(iv) The all prime numbers upto 30 are 2, 3, 5,7, 11, 13, 17, 19, 23, 29
~Sum of these observations =2+ 3 +5+ 7+ 11+ 13 + 17 + 19 + 23 +29 = 129

and, number of theiiragbservations =10
~Required mean = 10 = 12-9

(v) All prime numbers between 20 and 40 are 23, 29, 31, 37
Sum of these observations = 23+29 + 31 + 37 =120 .

and, number of their observations = 4

120

~ Required mean =1 =30

Question 3.

Height (in cm) of 7 boys of a locality are 144 cm, 155 cm, 168 cm, 163 cm, 167 cm,
151 cm and 158 cm. Find their mean height.

Answer:

Sum of the values = Sum of heights

=144 cm+ 155 cm + 168 cm + 163 cm + 167 cm + 151 cm + 158 cm = 1106 cm and
Number of values = Number of boys =7

Sum of heights 1106

~ The mean = Number of boys - 7 =158 cm
Question 4.
Find the mean of 35, 44, 31, 57, 38, 29, 26,36, 41 and 43.
Answer:

Sum of the values =35 +44 + 31 + 57 +38 +29 + 26 + 36 + 41 + 43 = 380

and Number of values = 10
Sum of the values 380

Mean = 1 iber of the value . 10

=38

Question 5.
The mean of 18, 28, x, 32, 14 and 36 is 23. Find the value of x. Sum of data



Answer:
Sum of data

~ Mean = Number of data

18+28+x+32+14+36
3= 6

U

128+ x
= 23= 6
= 23x6=128+x
= 138=128+x
= 138-128=x
o x=10

Question 6.
If the mean of X, X +2, X+ 4, x + 6 and x + 8is 13, find the value of x. Sum of data
Answer:

Sum of data

~ Mean = mber of data

x+(x+2)+(x+4)+(x+6)+(x+8)
13 = 5

U

S5x+20
T s
13 x 5= 5x + 20
65 - 20 = 5x
45 = 5x

LU

U
|

EXERCISE 34 (B)

Question 1.

Find the median of

() 21, 21, 22, 23, 23, 24, 24, 24, 24, 25 and 25
(i) 3.2,4.8,5.6, 5.6, 7.3, 8.9 and 91

(iii) 17, 23, 36, 12, 18, 23, 40 and 20



(iv) 26, 33, 41, 18, 30, 22, 36, 45 and 24
(v) 80, 48, 66, 61, 75, 52, 45 and 70
Solution:

(i) Given data = 21, 21, 22, 23, 23, 24, 24, 24, 24, 25 and 25
Clearly, middle term is 24
-, Median = 24
(ii) Given data = 3-2, 4-8, 5-6, 5-6, 7-3, 8-9 and 9-1
Clearly, middle term is 5-6
- Median =56
(iif) Arranging in ascending order, we get
12, 17, 18, 20, 23, 23, 36, 40
Here, number of terms = 8 which is even

1 |m n
. oo~ — 4—th term +{ —+1 |th
. Maedia 2{2 (2 ) }

= l Eth term+(ﬁ+l]th term
2 12 2 :

1.
2 {4th term + 5th term}

1
) {20 + 23}

‘Ifx43=2I'5

(iv) Arranging in ascending order, we get
18, 22, 24, 26, 30, 33, 36, 41, 45
Here, number of terms (n) = 9 which is odd

. n+l
-, Median = ‘-2— th term

9+1
= = 5th term = 30



(v) Arranging in ascending order, we get
45, 48, 52, 61, 66, 70, 75, 80
Here, number of terms = 8 which is even

= l E1;h term+(£+l)th term}
2 |2 2

=l Eti‘l tem+(§+i]thtr:.rm
2 12 W2

{4th term + 5th term}

b | —

%[6] + 66}

i

b | o=

x 127 =635

Question 2.

Find the mean and the median of :

() 1,3,4,5,9,9and 11

(i) 10,12, 12, 15, 15, 17, 18, 18, 18 and 19
(iii) 2, 4,5, 8, 10,13 and 14

(iv) 5, 8, 10, 11,13, 16, 19 and 20
(v)1.2,1.9,2.2,2.6 and 2.9

(vi) 0.5, 5.6, 3.8,4.9, 2.7 and 4.4.
Solution:



(i) Givendata=1,3,4,5,9,9 and 11
Clearly middle term =5

. Median=5
- Sum of observations C1+3+4+454949+11 42
Mean = mber of observations 7 T 7 =6
. Mean=6

(ii) Given data = 10, 12, 12, 15, 15,17, 18, 18, 18 and 19
Here, number of terms = 10 which is even

1 |n n
oo — — 1—th term +| —+1 [th term
. Median 2{2 ““(2 ] }

= J- l‘;:'»tl'l term+(ﬂ+])lh term
2 |2 2

{5th term + 6th term}

!
2

1
E{IS+ 17}

%XS2=16

. Median= 16



Sum of observations 10+124+124+15+15+17+18+18+18+19

Mean = ‘Number of observations 10
_ ﬂ =154
10

(iii) Givendata=2,4,5,8, 10, 13 and 14
Clearly, middle term is 8
. Median= 8

Sum of observations _ 2+4+5+48+10+13+14 56

-8

. Mean= Number of observations 7 T

(iv) Givendata=>5, 8, 10, 11, 13, 16, 19 and 20
Number of data = 8 which is even

1 |m n :
som — — 4—th term +| —+1 [th term
. Median 5 {2 (2 '[ }

l Eth t&nn+[§+l]th term
212 2

1
=3 {4th term + 5th term}

1
E{” + 13}

1
EK24-'=12

Sum of observations 5+8+10+11+13+16+19+20 102

- Mean = Number of observations 8 8

=17-75

(v) 1-2,19,2-2,2-6 and 2-9
Clearly, middle term is 2-2
. Median=2-2

Sum of observations 12+19+22+26+29 B 10:8

< Mean = i ver of observations 5 3

=216

(vi) Arranging in ascending order, we get
05,27, 38, 44,49, 56
Here, number of terms (n) = 6 which is even



1 |n n
- Median = > {Eth term +[5+]]th tenn}

= l {Eth term +[E+ Ijth term}
212 2

1
5 {3rd term + 4th term}

|
= 7 38+44)
-1 82=41
- 2 %8,

Sum of observations ~ 05+27+38+ 44+49+56 219
. Mean = ber of observations 6 6






